o s P Code :02338
s | ’7} i Q oae :
(2 Hours) [Total Marks : 60

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks alloted to the question.
(3) Each question has an internal option.
(3) Working notes should form part of the answer.

1. Following information is available regarding process A for the month of October 2014. 15
(i) Opening work-in-progress 40,000 units N \(D
[Material 100 % Complete, 25 % Complete for labour and overheads ] \:Q S do
(i) Unitsintroduced ~ 1,80,000 units Sy %QO
f’) \SO (iii) Units completed = 1,50,000 umtsf /: | ' ey
& o NO (iv) Units in processon -~ - 70, OOO units &~ ‘ E
0 & 97 g110-14 o L
o \}3 : (\Zo [Material 100 % Complete, 50 % Complete for labour and overheads | “/\9
© (v) Cost records showed v \),\9
e Opening Work-in-progress : : p?rb v\((v §o
9 Material ~ ¥ 1,00,000 ¢ VX Ay
T /‘_ Labour ¥ 25,000 . \9 %“0
NG 5/ ~ Overheads ¥ 45,000 LW
am? 0\3\ & / (vi) Cost incurred during the month October 2014 o
wn Material ¥ 6.60,000 o L3 V
S iy Labour % 5,55,000 . oo ) FE-Ap .
Overheads T 9,25,000 ' & Ve
= Assume FIFO method is used for WIP inventory valuation. N < \

Requiref to prepare AVY
(a) Statement of Equivalent Production.
(b) Statement showing cost for each element
(c) Statement of cost apportionment
(d) Process A account.
; OR
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2 QP Code :02338

The following information is provided to you for Process I & Process II. ’ 15
‘ ProcessI  Process I
Period July 2014 :
Workin-in-progress NIL NIL
Cost incurred in the period :
Direct Materials 4 1,05,000 2
Labour ' g 21,000 28,000
Factory Overheads £4 42,000 35,000
Units of Production :
Received in process (Units) ........c.ceeeeeee 70,000 63,000
Completed and transferred (units) ........... ‘ 63,000 56,000
Remaining in process at the end of period (units)... 3,500 4,375
(Degree of completion : Material 100%, labour & :
Overheads 50%) )
Loss in process (Normal loss) (units) 3,500 2,625

Required to prepare :
(a) Statement of Equivalent Production
(b) Statement showing cost for each element
(c) Statement of Cost Apportionment
(d) Process I A/c and Process IL A/c.
Use Average Method. '

2. Prepare a cash budget for the three months ended 30% September, 2014 based on the following
information : :
e Cash and Bank Balance on 1 July, 2014 X 31,250
e Estimated monthly salaries and wages T 12,500

ok
(3.}

o Interest payable — August 2014 T 5,000
; June July August | September
Estimated z ~ z =
Cash sales -~ — | 1,75,000 | 1,90,000 | 1,51,250
Credit sales 1,25,000 | 1,00,000 | 1,75,000 1,50,000
Purchases 2,00,000 | 2,12,500 | 3,00,000 2,25,000
Other Expenses — 25,000 27,500 26,250

Credit Sales are collected 50% in the month of sales and 50% in the month following

the month of sales, collections from credit sales are subject to 5% discount if payment

is received in the same month and 2%4%, if payment is received in the following month.

Creditors are paid either on a prompt or 30 days basis. Itis estimated that 10% of the
~ creditors are in the prompt category.

0% [ TURN OVER
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2. Three articles X,Y, and Z are produced in a factory. They pass through two cost centres A

3.

3 QP Code :02338

and B. From the data furnished, Compile a statement for budgeted machine utilisation in

both the centres.
Sales Budget for the year :
Annual | Opening Stock
Budget | of Finished
Product Sal;gs Prodici: Closing Stock
(units) (units)

“ R 4,800 600 Equivalent to 2 months sales
b4 2,400 300 - Equivalent to 2 months sales
£ 2,400 800 Equivalent to 2 months sales

Machine hours per unit of products :
Product Machine hours per unit cost centre
A B

X 30 70

Y 200 100

Z 30 20
Total Number of machines

Cost Centre | Number
A 284
B 256
Total 540

Total working hours during the year : Estimated 2500 hours per machine.
You are required to prepare Production Budget and Machine Utilisation Budget.

The standard cost of a chemical mixture is as under :
8 tones of material A at ¥ 40 per tonne
12 tones of material B at T 60 per tonne
Standard Yield is 90% of input
Actual cost for a period is as under :
10 tones of material A at ¥ 30 per tonne
20 tones of material B at ¥ 68 per tonne
Actual Yield is 26.5 tons.

Calculate —

(a) Material Cost Variance

(b) Material Usage Variance

P

(c) Material Price Variance
(d) Material Mix Variance
(e) Material Yield Variance.

CM-Con.:2978-14.
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4 QP Code:02338

OR
3. Happy Ltd. furnishes the following information relating to budgeted sales and actual sales 15
for the month of March 2014.

Sales Quantity | Sale Price
Product ) Per Unit
P 7 Units z
\'V)Vo Budget sales A 1,200- 15~ VAel
%‘% uﬁ B 800 20 £
C 2,000 40 o g
C\/ Actual sales A 880 18
B 880 20
L. 2,640 38

You are required to prepare :—
(a) Sales Price Variance
(b) Sales Volume Variance
(c) Sales Mix Variance |
(d) Sales Value Variance
(e) Sales Sub-Quantity Variance

4. (a) State whether the following statements are True or False and rewrite. 8
< (i) Cost audit is compulsory for all the companies.*

(11) Flexible Budget is a dynamic.
(<((111) Cost Auditor is required to submit his report to the Central Government. - ﬁ

«(1v) Cost variance is a difference between standard cost and actual cost.
A(v) Production report is a part of cost records.
Q\«(w) E quivalent units are units equal to input. F—
&, (vii) Non-controllable variance arises due to change in government pohcles
viii) The object of cost audit is to prevent unnecessary expenditure by the producers. g
4. (b) Fill inthe banks with suitable words — 0 0
(i) Equivalent Units are quantity of completed units.
(i) The audit required by statute is called as g oA
(iii) Budget is drawn for ? any 9\ ’ﬂ e~
(iv) Cost of Normal loss is charged to (Y}«OC& >>
) 3§ j@*_u " is the Wastage reahsable
(Vi) ytas, Vo V’Wlé%lét}l/mmary of all the functional Budgets.

(vii) Cement Companies follow (bﬁ (eSS e
OR (el

7

[TURN OVER
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4. {a) Maich the column.

Column A

(1) Sales Budget
(2) Idle time variance

Normal loss

}
N
)
~
)
) Cost auditor

Efficient buying
{(8) Key factor

A

(vi) What is propriety audit ?
\ Y

{(vii} What is meaning of test ch

ttendance Register

ase Budce‘mng

la for fixed overhea

CM-Con.:2978-14.
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Column B

Future oriented

Estimates of production
is debited to process A/c

Central Government
Purchase Manager
Scare factor
Estimates of sales
Credited to process A/c

Cost record about wages
Always unfavourable

Is cost V?&"iaﬂ(ﬁ&
3

s
Y Tt : A
(v} What do yeu mean by ideal standar
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QP Code :02329

(2 Hours)

N.B.: (1) All Questlons are compulsory.
(2) Figures to the right indicate maximum marks.
' (3) All Working Notes should form part of the answer.

[Total Marks : 60

1. HLtd. acquired 3,200 equity shares of S Ltd. on 31st December, 2013. The summarized 15
balance sheets of the two companies as at that date are given below :—

Liabilities HLtd. | SLtd.| Assets HLtd. | SLtd.
: 4 T ) 4 4

Share Capital 10,00,000 [4,00,000 | Buildings & 3,00,000 |3,60,000

(Rs. 100 each, fully paid) : : Plant and machinery 4,80,000 |3,18,800

| General Reserves 4,80,000 [3,40,000 | Investmentsin SLtd. (atcost)] 6,80,000 —

< ] Profit and Loss Ale. 1,14,400 | 72,000 | Stock 2,40,000 | 72,000

- «t~Bank Term Loan .1,60,000 — | Sundry Debtors 89,200 | 83,200
Bills payable (including _ Bills Receivable (inclitding

Rs. 6,000 to HLtd.) — | 16,800 | Rs. 6,000 from S Ltd.) 31,600 —

y/Sundry Creditors 95,600 | 21,200 | Cash at Bank 29,200 | 16,000

18,50,000 8,50,000 18,50,000 |8,50,000

You are given that :—

(@) S Ltd. made a bonus issue on 31st December, 2013 of one equity share for

every four shares held by its shareholders. This has not been accounted for.
Sundry Creditors of H Ltd. includes Rs. 24,000 due to S Ltd.
The directors have decided to revalue Land and Buildings and Plant and Machinery

(b)
()

~ of S Ltd. at Rs. 4,00,000 and Rs. 2,98,800 respectively.
Prepare consolidated Balance Sheet as at 31st December, 2013 with workings.
OR
1. The following is the summarized Balance Sheet of “A’ Ltd. and ‘B’ Ltd ason 15
31st December, 2013:—

Liabilities ‘A’Ltd | ‘B’Ltd Assets ‘A’Ltd | ‘B’ Ltd
S ¢ 4 : 4 4
Paid up capital of Rs. 10each [20,00,000 6,00,000 Freehold Premises 9,00,000] 2,40,000
General Reserve 8,00,000| 2,50,000 | Plant and Machinery 7,00,0001} 3,20,000
Profit and Loss A/c '6,00,000 3,50,000 | Furniture 1,60,000| 60,000
Sundry Creditors 2,00,000| 1,40,000 | Debtors 6,00,000] 3,40,000
Stock 6,40,000]| 3,20,000
Investment in shares in
B Ltd. (40,000 shares
of Rs. 10 each) 5,20,000 —
Cash in Hand 80,000| 60,000
36,00,000(13,40,000 36,00,000 |13,40,000
[TURN OVER
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2 | QP Code :02329

You are requlred to prepare a consolidated Balance Sheet as on 31st December 2013,
showing in detail neccssary adjustments and taking into consideration the followmg
information :— '

(@) ‘A’Ltd. acquired shares of ‘B’ Ltd. as on 1-1-2013 when the balances in their

Profit and Loss Account and General Reserve were Rs 1,50,000 and Rs. 1,60,000
respectively.

(b)  Stock ofRs. 3,20,000 held by ‘B’ Ltd. consists of Rs. 1,20,000 goods purchased

from ‘A’ Ltd. who charges profit at 25% on cost.

(c¢) Includedin Debtors of ‘A’ Ltd. Rs. 30,000 due from ‘B’ Ltd

2. From the followmg balances of Kalyan Bank Ltd., on 31 .3.2014, prepare Profit and 1 5
Loss Account and Balance Sheet as on that date.

Particulars Debit I Credit?
\ | Equity Share Capital of Rs. 100 each Rs. 50 paid up 4,00,000
4_Profit and Loss Account on 1.4.2013 — 1,60,000
", Current Deposit Account ‘ — | 13,64,000
o Fixed deposit Account _ — | 15,60,000
o), Saving A/c. 10,26,000
I Directors Fees 18,000 ‘
Wk Audit Fees 4,000
\H Furniture (Cost Rs. 4,00,000) - 3,48,000
Y Interest and discount received — 8,40,000 .
% Commission and Exchange — 4,00,000
.., Reserve Fund ' — 1,40,000 )
{t Printing & Stationery 16,000 —_
\|&Rent and Taxes 34,000
{6-Salary 2,80,000
Building (Cost Rs. 12,00,000) 9,00,000
\l Law Charges 6,000
_ Cash-in-hand 64,000
Cash with RBI 14,00,000
Cash with other bank 13,00,000
Investment at cost : 4,80,000
Loans, Cash Credit and Overdrafts 12,00,000
Bills Discounted and Purchased 5,60,000
Interest Paid 6,00,000
‘Borrowings — 8,00,000
Branch Adjustment Account ‘ —_ 5,20,000
Total 72,10,000 72,10,000

- Following additional information is available :—

L
2.

3.
4,

CM-Con.:2001-14.

The bank has accepted on behalf of the customers bllls worth Rs. 6,00,000 against
the securities of Rs. 7,60,000 lodged with the bank.

Rebate on bills discounted Rs. 22,000 as on 31-03-2014.

Provide depreciation on building 10% and Furniture 5% on cost.

Provide Rs. 6,000 for bad and doubtful debts.

e [TURN OVER



QP Code : 02329
2. From the following information prepare a Balance Sheet of Continental Bank Ltd. as 15
on 31st March, 2014 giving the relevant schedules.
Debit Balance -1 (Rs. In 000) Credit Balance (Rs. In 000)
Current Accounts © 2800 | Share Capital
Cash Credits 81210 | 19,80,000 shares of Rs.10 each 19800
Cashin Hand ¢ 16015 | Statutory Reserve 23100
CashwithRBI¢{ _ 3788 | Net Profit before Approprlatlon (= 15000
Cash with other Banks ) 15587 | Profitand Loss A/c. 1 " 41200
Money at Call "% 21012 | Fixed Deposit A/c. & 51700
Gold ¢ 5523 | Saving Deposit A/c. @ 45000
Govt. Securities % 11017 | CurrentA/c. 2 52012
A Premises \v 15570 | Bills payable <~ 10
3T Furniture \o 7012 | Borrowings from other Banks £, 11000
Term Loans ¢ 79288
‘ | 258822 258822
Additional Information :—
Bills for collection 18,10,000 2—
Advances and Endors ements 14,12,000 \2— ’ o
Claims against the bank not acknowledged at debt §5,00011— ’P\ ‘
Depreciation charges - Premises 1,10,000 U
Furniture 78,000 \}

50% of the Term L oans are secured by Govermment Guarantees. 10% of Cash Credits is unsecured.
Note: The Value of Premises & Furniture as on 31st March 2014 is after charging of

Depreciation.

3. The following balances appeared in the books of Mumbai Branch ofa firmin U.X.on 15

31-12-2013. o

Particulars Dr. Rs. Cr. Rs.

Stock as on 1-1-2013 <C 37,800 —
Purchases - 2,25,000 —
Sales T s 3,37,500
Debtors €+ ¥? 1,17,000 —
Creditors ¢+ L— ey 78,000
BillsReceivable ¢ % 31,200 —
BillsPayable ¢* L — 27,300
‘Wages and Salaries T 14,400 —_
Rent, Rates and Taxes 0% L 10,800 —_
Miscellaneous Expenses. QQ,L. 4,500 —
Fumiture §.o 14,730 —
Cash at Bank -C*® 90,870 il
Head Office Account L- — 1,03,500
5,46,300 5,46,300

CM-Con.:2001-14.
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cls |
Stock on 31-12-2013 was RS. 65,000. Mumbai Branch Account in t_l}glggglgs_gﬂﬂggd
Office showed a debit balance of £ 1,080 on31-12-2013.

Furniture and Fittings were purchased from a remittance of £ 125 received from Head Office.
The rates of excharge were :— e B
31-12-2012 Rs. 67 .50per £ €
31-12-2013 Rs. 68.50per £
The average rate of 2013, may be taken at Rs. 68 per £.
Prepare Trading and Profit and loss Account and Balance Sheet of Mumbai Branch in

QP Code :02329

the books of Head Office.
, OR
3. SLtd. Had a branch in Washington. Its Trial Balance as at 30th September, 2014 isas 15
follows :—
Particulars Dr. US §. Cr.US.$
Cash in Hand C ol e T |
Cash at Bank O e 550 — | < |
Creditors posde - — Y70 e ‘
Debtors o 240 — lc |
Head Office A/c. ok - = 1140 |e— vauc /I |
Trade Expenses [y g 10 — | |
Insurance Ao+ - 10 — |®
Rent, ratesm" Taxes oq - 20 — @
~Salaries - oo L S0 S
Carriage Inward , ~{no . s 10 — |-
Wages » b = 20 — |7
Goods from HO « ~ 800 — | et Q (\f\zo
Sales i T g 4160 | A \)\ a
Purchases ., - Kt _ 2400 — | )
Stock (1/10713) - ~ 560 — |op /3{}
J/let & Machinery F ~ 1200 — |pre— B
& 1 Furniture & Fixture o 80 — |p— %6
" Total : 5470 5470
Adjustments :

¢ L% Stock on 30.9.2014 § 520. /(]C")\
27 HOA/c shows an amount of Rs. 43,000 due from Branch.

Q’)/HO Alc shows goods sent to Branch atRs. 39,400. . (¢ A, —~Y
(4) Exchange Rates

Fixed Assets 1$=Rs. 38.

Opening Rate 1$ =Rs. 39. -

Closing Rate 1$ = Rs. 41.

Average Rate 1§ = Rs. 40.
£ Depreciate Plant & Machinery by 10% p.a. L&t LS6o >
(6) Depreciate Furniture & Fixture by 10% p.a. 7
Prepare Trading and Profit and Loss Account and Balance Sheet of Washington Branch
in the books of Head Office, after convertiing the above Trial Balance in Rs.

‘ CM-Con.:2001-14.jGﬂfl(O asf [TURN OVER
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5 ‘ QP Code : 02329

4. (a) Matchthe Following :— : 8
roup A Group B
1. Reserves & Surplus & | Schedule 14
2. Borrowings & | Schedule 10
3. Cashand Balances Wiﬂ“ Reserve Bank of India | Schedule 1
4. Investments 1| Schedule4
5. Fixed Assets o Schedule 15
6. Contingent Liabilities Ly | Schedule 8
7. Other Income 2 | Schedule 6
8. Operating Expenses ¢ | Schedule 12
) Schedule 2
j& | Schedule 16

o~
=)
e
$‘\3

ite Whether the following statements are True or False :— 7

{1@ very banking company in India is required to transfer atleast 40% of its
Current Year’s profit to the reserve fund.

{234 Surplus on revaluation sh hould be treated as Capital Reserve.

:\377\ Revenue Profits are the pre-acquisition profits of subsidiary Company.

'\9 When the amount of investment in subsidiary is more than the nominal value
ofthe share capital acquired by the holding company, the difference represents
God\xz -
(?1/ C ’ ¢ ; alance shest date. :
(5 R epoﬁi;g . 1 t 1€ cur used in pr memmg the financial statements.
W In banking com; ther Assets’ includes Gold. v
GR ,
4. Write Short notes on any three of the following :— 15
(1) Published Corporate Annual Reports.
(2) Foreign Currency Conversion (AS 11).
(3)  Rebate on Bills Discounted.
(4) ' Minority Interest.
(5) Consolidated Financial Statements (AS 21).

CM-Con.:2001-14.
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’

(REVISED COURSE)

(2 Hours) . [ Total Marks :60

N.B.: (1) All questibns are compulsory.
(2) Figures to the right indicate full marks

o,

. Answer the following (any two) - 15
% Explain the application of vision and business mission statement of a é
company ? M 7
£b)  What are the H.R. strategies adopted by an organisation ? e e YO
: % Describe the process of environmental scanning.

. Answer the following (any two) :- - . — 15 {)% |
%/ Give a'brief note on strategy formulation and strategy implementation. '
g% Describe the steps developed in BCG Matrix. &
}/(ec») Explain the various aspects of organisational culture. M
. Answer the following (any two) - ; 15

Y What are the reasons of growing outsourcing in India ? <
Explain the Benefits and Barriers of MIS )(‘// .
/ga/ Describe the emerging strateg1es of telecommunication sector. »~
. Give explanatory note on (any't_wo) - 15

(a)  Strategic management process
(b) _ Strategic choice

‘/()/ Business vr,eengineering strategies.

CM-Con. : 7005-14. TURN OVER
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\?ﬂ v QP Code : 02327
| (2 Hours) - [ Total Marks : 60

N.B: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

L. })/ Discuss the types and effects of tariffs. C 14
. OR
(b) (i) Whatis dumping? Explain the types of dumping. 7
(ii) Write a note on international cartels. 7
2. (a) (i) Discuss the types of economic integration. .- @ 7
(ii) Bring outthe achievements of APEC. . 7\\ T 7
' ' GR :
(b) % Discuss the achievements of SAARC. — 7
i) What is multilateralism? Outline its advantages and disadvantages. _ 7
3. (3 (i) Explain the emerging trends in globél trade. 7
(ii) Discuss the trade and environmental issues under WTO. 7
. OR
: (b) /ﬁ’{ ‘Discuss the important contentious issues of WIO. — 7
i7" Explain the main aspects of Agreement on Agriculture (AoA) under WTO. — 7
4. Write explanatory notes on any two of the following :— 18
(a) Non-tariff barriers : » ' \
(b) NAFTA ‘ N K

; /(,eﬁ/ Steps in the dispute settlement process of WTO. - .
\ < - 20 i e

(Tt TUTR)
(Raw) QR 0T : &O

ger: (R) wd ued dielm st e
R) oS 37w Tof IO EiferTe.

g, (31) IR TR T qfemm T . %
' e
@) () STEYSH TEUN HR? SEYSHE THR T . "
() ST wdaar foq fergt. o
. (3 (7)) orhie wwrewaw fafay wer wEm. 9
() 3% (APEC) I Hec= HIEd T8¢ . N _ 9
[TURN OVER
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+

~ (REVISED COURSE)

(2 Hours) [ Total Marks :60

CNB.: (1) Al ques‘tibns arc compulsory.

1. '/ejthe following (any two)
(a) Explain the application of vision and

(b)
c)

(b)

©

; AnsWer the fé}lowing {any Mo) =
- @

(2) Figures to the right indicate full marks

business mission statement of a

company ?
What are the H.R. strategies adopted by an organisation ?

Describe the process of environmental scanning.

‘Give a'brief pote on strategy formulation and strategy implementation.

Describe the steps developed in BCG Matrix.
Explain the various aspects of organisational culture.

3 qwer the following (any two) =~

()
(®)
()

What are the reagons of growing‘ oﬁtsourcing in India ?
Explain the Benefits and Barriers of MIS. :
' Describe the emerging strategies of telecommunication sector.

4. Give explanatory note ot {(any two) —

(a)
)
(©

Strafegic management process
- Strategic choice
Business reengineering strategies. -
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